

**FESTIVAL DE CALAVERAS 2025**  
**NATACION ARTISTICA**  
**10YMEN Women Duet Finals**

FIIVE

www.sincro.mx

7 NOV. 2025

Code	Rank	Draw	Swimmer	Ref DD	J1	J2	J3	J4	Total Pen.	Total	Routine
			Elements	Artistic Impression					Synchronization		
			J1								
			J2								
			J3								
			J4								
Code	Rank	Draw	Swimmer	Ref DD	J1	J2	J3	J4	Total Pen.	Total	Routine
1.	(2)		SAN NICOLÁS								
			SEGUNDO HERNANDEZ Meghan / URIBE CARRIZALES Renata Lizeth								
			ACRO (1.6)	0.900	6.00	4.75	5.50	5.25	7.6800	44.2321	77.4321
			HYBRID (0.5)	3.750	5.00	4.75	5.00	4.75	9.0625		
			HYBRID (0.5)	3.650	4.75	4.25	4.75	4.00	8.2125		
			HYBRID (0.5)	4.700	4.75	4.25	4.25	4.25	9.9875		
			HYBRID (0.5)	4.550	5.00	4.00	4.00	4.00	9.2896		
			TOTAL DIFFICULTY	17.550	17.550						
			Choreo and Music (1.2)		5.50	4.75	5.00	5.00	18.0000	50.4000	
			Performance (1.0)		5.25	4.50	5.25	4.75	15.0000		
			Transitions (1.2)		5.00	4.75	5.00	4.75	17.4000		
			STC Small (0.1)		42				4.2000	-17.2000	
			STC Obvious (0.5)		14				7.0000		
			STC Major (3.0)		2				6.0000		
2.	(1)		PARADERO								
			CHOLICO RENDON Anna Sofia / FLORES ULLOA Ainhoa Sarahi								
			HYBRID (0.5)	2.300	6.00	4.50	5.75	5.00	6.1333	19.5917	72.5917
			HYBRID (0.5)	2.950	5.75	4.75	5.50	5.25	7.8667		
			HYBRID (0.5)	1.500	4.75	4.75	4.75	4.50	3.5625		
			ACRO (1.6)	1.500	0.100	5.00	4.50	5.25	5.00	0.8000	
			HYBRID (0.5)	1.600	0.500	5.00	4.50	5.50	4.75	1.2292	
			TOTAL DIFFICULTY	7.350	9.850						
			Choreo and Music (1.2)		5.75	5.50	6.25	6.50	21.6000	60.3000	
			Performance (1.0)		6.00	5.75	6.00	6.25	18.0000		
			Transitions (1.2)		5.25	5.25	6.25	6.25	20.7000		
			STC Small (0.1)		33				3.3000	-7.3000	
			STC Obvious (0.5)		8				4.0000		
			STC Major (3.0)		0				0.0000		
3.	(5)		TIGRES UANL								

**FESTIVAL DE CALAVERAS 2025**  
**NATACION ARTISTICA**  
**10YMEN Women Duet Finals**

FIIVE

www.sincro.mx

7 NOV. 2025

Code	Rank	Draw	Swimmer	Ref	DD	J1	J2	J3	J4	Total Pen.	Total	Routine	
			BALDERAS MACIAS Danna Leticia / FRANCO DE LIRA Constanza										
			HYBRID (0.5)	2.050	0.500	5.00	3.75	3.75	4.00	0.9792	6.5758	49.0000	
			HYBRID (0.5)		0.950	4.00	4.00	4.00	4.25	1.9000			
			ACRO (1.6)	1.500	0.100	5.00	4.00	4.50	3.75	0.6800			
			HYBRID (0.5)		1.050	4.25	4.00	4.25	3.00	2.1000			
			HYBRID (0.5)	1.450	0.500	4.00	3.75	3.50	3.50	0.9167			
			TOTAL DIFFICULTY	3.100	7.000								
			Choreo and Music (1.2)			4.50	4.50	5.75	4.75	16.8000	49.0000		
			Performance (1.0)			4.75	5.00	4.75	5.00	14.5000			
			Transitions (1.2)			4.50	4.25	5.75	5.25	17.7000			
			STC Small (0.1)			35				3.5000	-6.5758		
			STC Obvious (0.5)			22				11.0000			
			STC Major (3.0)			5				15.0000			
4.	(8)		PARADERO										
			HERRERA ESTRADA Dafne Aide / GUZMAN ZAMORA Camila										
			ACRO (1.6)	1.500	0.100	5.00	4.25	5.00	4.75	0.7733	8.00	13.3588	46.4500
			HYBRID (0.5)		2.100	5.00	4.25	4.75	4.75	4.9875			
			HYBRID (0.5)	2.950	0.500	4.50	4.00	4.25	4.50	1.0833			
			HYBRID (0.5)		1.950	4.00	3.75	3.50	3.25	3.4938			
			HYBRID (0.5)		1.450	4.25	4.00	4.00	4.50	3.0208			
			TOTAL DIFFICULTY	6.100	9.950								
			Choreo and Music (1.2)			4.75	5.75	5.75	5.25	19.5000	54.4500		
			Performance (1.0)			5.00	5.25	5.25	5.50	15.7500			
			Transitions (1.2)			4.50	5.50	5.75	5.25	19.2000			
			STC Small (0.1)			44				4.4000	-13.3588		
			STC Obvious (0.5)			7				3.5000			
			STC Major (3.0)			3				9.0000			
5.	(4)		CF										
			GONZALEZ GARCIA Fatima Zirce / SANTAMARIA JIMENEZ Martina										
			ACRO (1.6)		0.700	5.75	4.00	4.25	3.00	4.6667	11.6292	45.8500	
			HYBRID (0.5)	1.400	0.500	4.50	4.00	4.75	4.50	1.1250			
			HYBRID (0.5)	2.300	0.500	4.00	4.25	4.50	4.50	1.0833	2.00		
			HYBRID (0.5)		1.150	3.75	4.00	3.25	3.75	2.1563			
			HYBRID (0.5)		1.450	3.50	4.00	3.00	3.75	2.5979			
			TOTAL DIFFICULTY	4.300	7.000								
			Choreo and Music (1.2)			5.75	5.00	4.50	4.50	17.4000	47.8500		
			Performance (1.0)			5.00	5.25	4.50	4.25	14.2500			
			Transitions (1.2)			5.50	5.00	4.00	4.00	16.2000			
			STC Small (0.1)			39				3.9000	-11.6292		
			STC Obvious (0.5)			10				5.0000			
			STC Major (3.0)			3				9.0000			
6.	(7)		TIGRES UANL										

**FESTIVAL DE CALAVERAS 2025**  
**NATACION ARTISTICA**  
**10YMEN Women Duet Finals**

FIIVE

www.sincro.mx

7 NOV. 2025

Code	Rank	Draw	Swimmer	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
			GARCIA ORTIZ Sofia De Maria / TELLO CARRIZALES Genesis Maricela										
			HYBRID (0.5)	2.050	0.500	4.75	3.75	3.50	4.25	1.0000		6.5100	44.8500
			HYBRID (0.5)		0.950	4.00	3.50	3.75	4.00	1.8208			
			ACRO (1.6)		0.300	4.25	4.00	4.00	4.25	1.9600			
			HYBRID (0.5)	1.050	0.500	3.75	3.75	3.00	3.50	0.8958			
			HYBRID (0.5)	1.450	0.500	3.50	3.75	3.25	2.50	0.8333			
			TOTAL DIFFICULTY	2.750	5.800								
			Choreo and Music (1.2)			4.75	4.25	4.75	4.25	16.2000		44.8500	
			Performance (1.0)			4.75	4.50	4.00	4.00	12.7500			
			Transitions (1.2)			4.50	4.50	4.75	3.75	15.9000			
			STC Small (0.1)			43				4.3000		-6.5100	
			STC Obvious (0.5)			27				13.5000			
			STC Major (3.0)			3				9.0000			
7.	(6)		AOA										
			ALVAREZ Diana / GOMEZ Andrea										
			ACRO (1.6)		0.700	5.00	4.00	4.75	4.25	5.0400		20.2942	44.3000
			HYBRID (0.5)		1.900	4.50	3.75	5.25	4.75	4.3542			
			HYBRID (0.5)	2.450	0.500	4.50	4.00	4.75	4.75	1.1458	8.00		
			HYBRID (0.5)		2.700	4.00	4.00	5.00	4.75	5.9625			
			HYBRID (0.5)		1.750	4.25	4.00	4.75	4.50	3.7917			
			TOTAL DIFFICULTY	7.550	9.500								
			Choreo and Music (1.2)			5.25	5.00	5.50	4.75	18.3000		52.3000	
			Performance (1.0)			5.50	5.25	5.75	5.00	16.0000			
			Transitions (1.2)			5.00	5.00	5.25	4.75	18.0000			
			STC Small (0.1)			55				5.5000		-20.2942	
			STC Obvious (0.5)			5				2.5000			
			STC Major (3.0)			5				15.0000			
8.	(9)		SAN NICOLÁS										
			ALMANZA LOREDO Martina Milenka / HINOJOSA RAMIREZ Lindsay Ximena										
			ACRO (1.6)		0.700	6.00	4.25	5.00	4.75	5.5067		17.7400	41.3000
			HYBRID (0.5)		3.900	5.50	4.00	4.50	4.50	8.7750			
			HYBRID (0.5)	3.600	0.500	5.25	4.00	4.75	4.75	1.1875	8.00		
			HYBRID (0.5)		3.050	5.00	4.00	5.00	4.50	1.1667			
			HYBRID (0.5)		2.900	5.00	4.25	4.50	4.25	1.1042			
			TOTAL DIFFICULTY	6.100	14.150								
			Choreo and Music (1.2)			4.75	4.75	5.50	4.75	17.4000		49.3000	
			Performance (1.0)			5.00	4.25	5.50	4.75	14.5000			
			Transitions (1.2)			4.75	4.50	5.00	5.00	17.4000			
			STC Small (0.1)			51				5.1000		-17.7400	
			STC Obvious (0.5)			10				5.0000			
			STC Major (3.0)			4				12.0000			
9.	(3)		COMUDE LEÓN										

**FESTIVAL DE CALAVERAS 2025**  
**NATACION ARTISTICA**  
**10YMEN Women Duet Finals**

FIIVE

www.sincro.mx

7 NOV. 2025

Code	Rank	Draw	Swimmer	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
			MARTINEZ C. Natalia / OSORNIO C. Sarah										
			HYBRID (0.5)	2.050	0.500	5.50	4.50	4.75	4.75	1.1875		4.5950	33.0000
			HYBRID (0.5)	1.700	0.500	4.50	4.25	3.50	3.25	0.9583			
			ACRO (1.6)	0.900	0.100	4.25	4.50	4.50	4.50	0.7200	2.00		
			HYBRID (0.5)	2.150	0.500	4.00	3.25	3.50	2.00	0.8333			
			HYBRID (0.5)	2.150	0.500	4.00	3.75	3.75	1.50	0.8958			
			TOTAL DIFFICULTY	2.100	8.950								
			Choreo and Music (1.2)			3.00	3.00	4.25	4.75	13.2000		35.0000	
			Performance (1.0)			3.00	3.00	3.25	3.75	9.5000			
			Transitions (1.2)			3.00	3.00	3.75	4.00	12.3000			
			STC Small (0.1)			32				3.2000		-4.5950	
			STC Obvious (0.5)			15				7.5000			
			STC Major (3.0)			15				45.0000			